Umx L\ TOO(C 1 | -
blade 4ext —)wo.rkmj ot or
amSer
GB £ = %= 62 +9% + S =

Q) £'M =3*-12x + 9
f () = -2

B The ":wS‘{’ decvokive 15 USed the find Mhe insfordanecus
Coke of dmngc O"" a '("unc-l'\on

Tt can a\SO be Hba-ﬁh{’ of as ‘("s(d\ﬂ“() the S(ad\cml' of

He Jmnsevx parkc
9
£'() = ¢x-12
O =Cx-\
€x =1}
x=4
Vo‘m* of 'u\“fc‘\im (63 Chmsc " COV!OW“J) of x=2
£*01) :6(0—\9 } F“(3)= é(s)- 3
Neﬂé;"‘e —r .. Contave L i pos\;t‘\i —> .". (oncove down

. « CONCONE up for ¥ L2 ond Concove doon for X 72



o)
From pork €, ok of wfleckion ot X =2

£ = (3~ €(a)* +4(9) +S
=8 — 2 4154S

==y
S Powk of infleckon o (32,7

A 4



QB\) vibd = A2-ut + 2

0) alt) =kt -y
bh O =ut-u
) %=t\

.t =

Accelevotion is e o Owm/st abter |second

)

s(4) = S A2 -ut +2 ot

SIH = 3 _ WP M+
) 2
3 = O -0 —0 +¢C
“Cc= 2
S = 5 _ AW 2t 4 3
3
d)
g(N= 20D (W + 2D + 3
3
=3 _1
> +3 +3
=31 1+ 3
3
= 3
1.4
D\Sp\aCcMM\ afler | Second

IS 3-‘7W\



)= -ux? — PE):kad-? — £9%) =Qy? - 2nx

) =kl - 142

0 =Uy?(v-3)
bnt=0 o2  x-3=0
L.% =0 o5 X=73

£(0) =(} - ule®
=0

(0,0

b) £h(9) 'illéo)’ - (o)

Since F'0(*) =0

C Pt of inflecken

i
(
l
(
!
|

= (B -u(3)°

ond
£Y(3)= laetz)" - (3

Swnce £() 70

-« Local minipaown

2 (0,0) (4!0) X
-1.71384 0.2 528616
£1(x)=x*-4- x> 3,-27)

1
~32.4306




Qu)

Jwer
T~
L
%)
P=2v + |
l’&o 2x + L
~ L =1n0-2x
A= Lu
120-2x) x
A('x) 1dox - At
A' (%) = D0 -ux
O = 0 -kx
Ux= Q0
X< %0 w1
0
AN = -u
NeqoXue . :
\;’(ﬁu: —¥ .. Maxiweann

A(30) = 1RO (303 -2(%0)°
= \R0O m2

o Mox Acea (S 1800m?



Uak L Topic 2 -

QY o) =
° Aﬂ‘“ oA
2.5m +M9’-.6.

s
0=t (75
6=67.38°

A Sin 6=0
3.5m H

Sn 6=3.5
12

-5 (3

6=16.98°

0
ton 6=0
[ -] ¥ W
tan 2¢° =X
€Om %0

A = 30 x fan 28°
% = UWd.6m




Q’» () sn (%>

7
Sin (‘%)’J% © 1 /511 3] wddied

(i) cos ( _5_61‘) T

\/ (v) cos (%)

(oS (5_}5: "COS(%)
= - ﬁ/a

('\13) ton (4{()

ton (‘/ri«) =1

(i) 5w ( 2)

., N

Sin (72)=—S'm['%)="/a "’(M (%“):—-‘vn(%)-‘-"ﬁ




QB) B s 6=4 (i) tan 6 =1

0=30° 0 = us°
b=, \50° b=k, s’

(D) cos §=-X

0=00° bt n (Luadmds

wheve ¢o6S 1S aego\-‘wc




za% + b? - 2db-ces C
b= [d :qu* qz C2e7e8 = s LO°
¢ & 5. 7%m
)
sinA _ sa C
2 c

SiV\A =_G'_Slﬂ_c_
(#

A =sin (q_s._?_c_>

A= Sia™ (2-5in 0° bether o beep
—s:%:qip_ /5&“9 exeel value
. A=51°

O B= 180 —ko°-S\°
LB 49°

e) A(CO = ,"aqb - Sin C
= Jﬁ ‘7) CQ) S uoo
= 20.15 cm?



© 4
aL)a) o |
S
20+ {100k
orig\m\ “f"w‘.‘.“‘
diaayoun JW°T < — » Q0°T
(80T
o°T i
A e l“' s
| sveter S A
D""""“"‘“‘j &J Qb > B =5 "SIk
Missin —2rp°—13c°=a40%=1° |- e
ona\e 6 ':ﬁ‘:so‘as =% us* >/ 10°
370‘1‘ € Ls™ ;qooT
(80T
b) 100
d =,J 20" 4 100" - 24210100« co3 NIS®
»o = 26%.09 km
d

)

Swno - Sim \s°
a\0 a6%.05
0 , Beavmﬁ =360°- 70° - LS. "
o = Hg'a“ ( = 90«4.76'1’

i




Unk L Topic 3 -

Q) Pr (success) = 6.8% b 0.1
) Pr((&‘.\i?) = |-0.8% ) O

C)Mcansnp
= | x0%%
= 0.13 = 0.88
Var = ’\Pq/
=083 x 0.1
= 0.1056
Q’&> ‘720.75’ / n=95 / 1:0.15
%)
P(()(=ll) = 0.349S5 6§
H 3
b (x>uU) =0.6333
) meon = np Vo = 004 o = Vor
=9x0.7S =2.75+0.4% = J0.937S
=3.75 = 0.937% < 0.963%2
03) G) P=O-§, 7/30-3., Y\=3
() fe (3 heads) = [ 3\ (0.9 (OSY
¢ (3 heads) (3) (
= 1. (of\a- \
S V2 x x .
= ./ag o;z O./?QS' These are im Pc»f“'w\"
- bah Ceee skills !
(i) PelAviesst | head) = \ = Pr(No heads)
=l - (z) (0-5)° (0-3)

%



ng) P= '/u, q/: 3/«, n=123
(D) Pe(\ blee) = (:» ANEN)

TR L
3N
r g

= 3/%

) Pr (o} least one bive) = | = Pr(O ble)

- | - (g(m“(%)’

=l- |1-1-%
= | - Q/
= Y% - Us
* Xe
Qu) o) p=0.6,¢=0u,n=3%
() )
Pr(X73) = 0.4502
(i) Gt
Pe( X £5)=0.6%u6
(i)

!

(34X 4S)= 0.63U4%
QS) P=0.0§, Q=O.QS', n=20

0)

|

Pe(x=3) = 0.1837

!

fr (X 43) =0.4245



Unk b Topic b

)

a)1=£.|z(t—u‘)dx (, =.(,__'3)—(-|+J§

Ex)=w =0

Vo (¥) = J"’(«—v)’ pl) o

-

= j"('x-o)" 2 (1-%*) dx

3
d '
) Pe(X20S) = j:x (") &x = 0.15615
) R(-0S¢x< 1) =§: 2 () dx= 0.94375



Q’&) £ =0.1e %"

x20

Y | -0.\%
0) E(x) k\-‘»“o% S' x-0.le dx
0

E(®=\0

\Var (X) = 100

o = ,J\lar(X)

:-lO
9 P«(uauaﬁj” O.1e"°" dx = 0.0%6l

Q’é) @ p=100 , 0-=20

:

2=%-V  Pe(724 %< 1s) = 0.6916
o
2 = 130- (0 d)?((—l0'4x<\0')~ 0.63 ~ 68
20 . ///[ 0.68
=3a-g E ip i
2=1S )P (lce x< 30) > 0.95 = 45t
9 =20 E // 0.9%

!:)P«(wcuw) 0.937 = 949.77
; AR
k: \2S.63\

~

g\f’r (x<-30 ok X»30)

0.00\¢

lvb See dbove



{ § « (|
"y} YT ST 165 M 93

Pr(154 ¢ % & 177) =03k +0.u15
=0.%\9
9)

Pr(160 ¢ X £1%0) = O.741S
= 79.5 ).

Pr (X &) = 0.0000I15
= 0.00:S .

Botrown A4S 7.

160.Q5ecm  or less

Top 17/ 178.96cm o move



o = =[0.65 x0.35 o 0.0u3S
'%‘L =

120
Qd)

n=500 , x=310 , 95/.CT (2=1.9¢)

(0.5775 , 0.¢635)

v\We can be AS 7/ confident that \ocht
pr Qor\"\w\ a'lS belLeen 57.7s v; and 66?); '/.i ~

cE)
n=150 , x=¢5 , 90/ CI (2=].65)

(0.3¢6% ,ouqa )

vWe can be 407 confident thal o \ock
P( por\-\ov\ ayg bg}ueesr\ 34.6‘6’/.“ and uC\.‘eﬁ'l.PoPU “



o.0u = 1.96 ,o‘.ss';g'.ug @S/ CT = 2=19¢
(4 )

(o.ou > 0.93S
.96 )~ n

n = QQL(-IS.
(Y
.96

n =594.2S

A samge Size of SA5 |s rtqu‘\rco\ fo achieve &
Ma‘(&“" of ewor £ Ul

V) A \arger margin of ewvor mems the wudth s
)Gc h\eﬂ confidace  inkervel Wil become w‘lder‘

Q) As the sample size increases, the cudth
of the confidence intervel becomes move Norvow
(C.a. move grecise)

QS) 94°/.(T—2=2S%
. 2=d.
(4]
.n = d2556€.06

.. A sampe size of ASST is requived fo achicve o
Mavs‘m of ewor of 3.57.



